CPR E 281x/282x ( Lab 6b Answer Sheet 

7-Segment Display in schematics
Name____________________

Name____________________

Truth Table: 
	w3w2w1w0
	a
	b
	c
	d
	e
	f
	g

	0 0 0 0
	
	
	
	
	
	
	

	0 0 0 1
	
	
	
	
	
	
	

	0 0 1 0
	
	
	
	
	
	
	

	0 0 1 1
	
	
	
	
	
	
	

	0 1 0 0
	
	
	
	
	
	
	

	0 1 0 1
	
	
	
	
	
	
	

	0 1 1 0
	
	
	
	
	
	
	

	0 1 1 1
	
	
	
	
	
	
	

	1 0 0 0
	
	
	
	
	
	
	

	1 0 0 1
	
	
	
	
	
	
	

	1 0 1 0
	
	
	
	
	
	
	

	1 0 1 1
	
	
	
	
	
	
	

	1 1 0 0
	
	
	
	
	
	
	

	1 1 0 1
	
	
	
	
	
	
	

	1 1 1 0
	
	
	
	
	
	
	

	1 1 1 1
	
	
	
	
	
	
	


K-maps:
	w1w0      w3w2
	00
	01
	11
	10

	00
	
	
	
	

	01
	
	
	
	

	11
	
	
	
	

	10
	
	
	
	


SOP: a = ____________________________________________

	w1w0      w3w2
	00
	01
	11
	10

	00
	
	
	
	

	01
	
	
	
	

	11
	
	
	
	

	10
	
	
	
	


SOP: b = ____________________________________________

	w1w0      w3w2
	00
	01
	11
	10

	00
	
	
	
	

	01
	
	
	
	

	11
	
	
	
	

	10
	
	
	
	


SOP: c = ____________________________________________

	w1w0      w3w2
	00
	01
	11
	10

	00
	
	
	
	

	01
	
	
	
	

	11
	
	
	
	

	10
	
	
	
	


SOP: d = ____________________________________________
	w1w0      w3w2
	00
	01
	11
	10

	00
	
	
	
	

	01
	
	
	
	

	11
	
	
	
	

	10
	
	
	
	


SOP: e = ____________________________________________

	w1w0      w3w2
	00
	01
	11
	10

	00
	
	
	
	

	01
	
	
	
	

	11
	
	
	
	

	10
	
	
	
	


SOP: f = ____________________________________________

	W1w0     w3w2
	00
	01
	11
	10

	00
	
	
	
	

	01
	
	
	
	

	11
	
	
	
	

	10
	
	
	
	


SOP: g = ____________________________________________

· 7-segment display design
Show the TA your schematic and the waveform results.   
TA Initials: ​​​​​_______
























